9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

81716129 |13 |5 |4
4 121513 (8|67 9|1
3111917 51418216
716|814 3[9]15|1]12
214 (3111|7516 (8|9
5191186214 |7 |3
91814 |5 23167
6 |3 |79 181245
1 5/216 (4|79 318
6 |5 |1 |73 219 |84
4 13191816 |1 |7 5|2
8 |7 1219 51416 |3 |1
514|361 91827
71116 (3 (2 8|54 1|9
912 |8 (5|4 7|16 |3
319 (5141|7612 |18
2 1814 |1 |9 5|3 |76
116|712 |8 314195
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